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- Grey line: exponential fit Peak flux: 1.681+/- 0.455 c/s/cm? ]
C Black line: power law + gauss fit Fluence : 10.06+/- 2.84 c/cm? 7
- Dashed line: power law Duration 13.854/- 4.40s B
; Best fit model: 1. 7:
C Best fluence model: 1. B
— ‘ Best duration model: 1. ]
L n M) WW WH il H)l Rl W HH
- M N I}M M \l Wl | ) s ! bl I MJ Ll \\\ H I \H Wil M il I b |
= [T Hl‘ H H\“\ I NW |W i HHHH HW I \Hlm} i | || | H | l w M HHH m | | i W L
; Exponential fit é
=  Expon.time: 4.14+/- 1.28 s (chi*red= 1.10) =
S | bt b TR
= ﬂﬁﬂﬂﬁﬂN*H#ﬂﬁﬁﬁﬁﬁﬁwWﬂﬂﬁﬁ*ﬂHﬁW ﬁﬁ#ﬁﬂﬁ*ﬂfﬂ WﬂﬁwHﬂﬁwﬁ**HW*Hﬁﬁww i mWHﬁfﬂﬂﬁHﬂwHﬁ i
= | + * 3
; Power law fit é
E Power law index: -1.684+/- 0.349 (chi*red= 1.11) =
; } | | | | b f I =
= ;ﬁ*mH+ﬁ++ﬂ*wﬂWﬁwHﬁwﬁﬁﬁﬁm+jﬂjﬂWHﬁﬁﬁHHﬁﬁwmm*ﬁ“ﬂHﬁj#H*HWﬁwWﬂ mm+*ﬁgﬁHﬁfHﬁwﬁﬁ*ﬂﬁHﬂﬁmﬁwﬁww#ﬂ#@
= f | f 3
i I T T T T T T T T T I T T T T T T T T T I i
— Power law fit plus Gaussian (st.dev.= 46.95+/-***** g, fracgs= -0.00+/- -0.02) =
- Power law index: -1.640+/- 0.008 (chi*-red= 1.12) 7
B i | | | f } - b bt =
ST T ﬁﬁ**H#WﬁwWﬂ#ﬁ*ﬂwwﬁ*ﬁﬁﬁﬁ*ﬂfﬂ M i MwHﬂwmw it m+ﬁﬁw*ﬁfﬁ*ﬂﬁ+ﬂwHﬁ fELs
= f | f 3
E | I I I I I I I I I | I I I I I I I I I | I E

0 100 200 30

Time [s]

0



